

#### **7938 MAIN STREET** HOL 0

**BILL TO** 

UMA,	<b>LOUISIANA 70</b>	360
(98	35) <b>876</b> -3456	

## Invoice

DATE	INVOICE#
11/13/2023	PO11-202349

DIRK GUIDRY CAMPAIGN FUND 5114 BAYOUSIDE DRIVE CHAUVIN, LA. 70344

	TERMS	DUE DATE	REP
DESCRIPTION		AMOUNT	
POLITICAL AIR TIME - PREPAID INVOICE - BAYOU TIME POLITICAL AIR TIME - PREPAID INVOICE - ONE ON ONE POLITICAL AIR TIME - PREPAID INVOICE - BAYOU TIME SPECIAL	78 60 52	21.25 12.75 10.63	1,657.50 765.00 552.76
POLITICAL AIR TIME - PREPAID INVOICE - BTA LATE MORNING  DIRK GUIDRY CAMPAIGN FOR STATE REPRESENTATIVE DISTRICT 53 GENERAL ELECTION - NOVEMBER 18TH PD CHECK 1010 FLIGHT DATES: 11/6 - 11/18/23	3	7.00	21.00
FOLKUUN IO	Total		\$0.00

Total

\$0.00



# Dirk Guidry

3,000.00

2,996.26

3.74

											Total Spots:	193	
November 6-12				Mon	Tu	Wed	Thur	Friday	Sat	Sun			11
											Total	Cost/Spot	Total
Program	Days	Time	x to run	11/6	11/7	11/8	11/9	11/10	11/11	11/12	Spots	(Net)	(Net)
Bayou Time	M-Sun	12A-10PM	х6	6	6	6	6	6	6	6	42	21.25	892.50
Airs 6x per day					1	1	1	1 .		1 1	7		

Program	Days	Time		Mon 5x	Tu 5x	Wed. 5x	Thur 5x	Friday 5x	Sat 5x	Sun 4x			
One on One	M-Sun	2am-9pm	x to run	11/6	11/7	11/8	11/9	11/10	11/11	11/12	Total Spots	Cost/Spot (Net)	Total (Net)
		x4 Sunday			5	5	5	5	5	/	30	12.75	382.50
					1	1 :	i]	1 1		1	6		

Program	Days	Time		Mon	Tu	Wed	Thur	Friday	Sat	Sun			
											Total	Cost/Spot	Total
Bayou Time Special	M-Sun	3A-7PM	x to run	11/6	11/7	11/8	11/9	11/10	11/11	11/12	Spots	(Net)	(Net)
(Promotional)			x4	4	4	4	4	4	4	4	28	10.63	297.64
					1	1	1	1 :	1	1 1	7		



# Dirk Guidry

November 13-18				Mon	Tu	Wed	Thur	Friday	Sat	Sun			
Program	Days	Time	x to run	11/13	11/14	11/15	11/16	11/17	11/18		Total Spots	Cost/Spot (Net)	Total (Net)
Bayou Time	M-Sun	12A-10PM	х6	6	6	6	6	6	6	MINING.	36	21.25	765.00
Airs 6x per day				1	. 1	1	. 1	1	1		6		

Program	Days	Time		Mon 5x	Tu 5x	Wed. 5x	Thur 5x	Friday 5x	Sat 5x	Sun 4x			
											Total	Cost/Spot	Total
One on One	M-Sun	2am-9pm	x to run	11/13	11/14	11/15	11/16	11/17	11/18		Spots	(Net)	(Net)
		x4 Sunday	x5 M-Sat	5	5	5	5	5	5		30	12.75	382.50
				1		1 3	1 :	1 1		l fra Sa	6		

Program	Days	Time		Mon	Tu	Wed	Thur	Friday	Sat	Sun			
											Total	Cost/Spot	Total
Bayou Time Special	M-Sun	3A-7PM	x to run	11/13	11/14	11/15	11/16	11/17	11/18		Spots	(Net)	(Net)
(Promotional)			x4	4	4	4	4	4	4	Delay - Te	24	10.63	255.12
				1	. 1	1 1	1 :	1 :	1	1	6		

Program	Days	Time	Mon	Tu	Wed	Thur	Friday	Sat	Sun			
BTA Late Morning	M-Sun	7am-12pm	11/13	11/14	11/15	11/16	11/17	11/18		Total Spots	Cost/Spot (Net)	Total (Net)
3	-	•				1	1	1		3	7.00	21.00

### **CANDIDATE ADVERTISEMENT AGREEMENT FORM**

See Order for proposed schedule and charges.  Dirk Guidm	_
1, DITE Gulary	, hereby request station time as follows:
IDENTIFY CANDIDATE TYPE	ERAL CANDIDATE E OR LOCAL CANDIDATE
ALL QUESTIONS/BLOCK	S MUST BE COMPLETED
Candidate name:  Dirk Guidry  Authorized committee:	
Authorized committee: Buidy Camp	right
Agency requesting time (and contact information):	$\mathcal{O}$
N/A	
Candidate's political party:	
Office sought (no acronyms or abbreviations):  State Representative,  Date of election:	district 53
Date of election: $1/-18-23$	General Primary
Treasurer of candidate's authorized committee:	
The undersigned represents that:	
(1) the payment for the broadcast time requested has been fur	-
the candidate listed above who is a legally qualified car the authorized committee of the legally qualified candi	
(2) this station is authorized to announce the time as paid for b	· ·
(3) this station has disclosed its political advertising policies, included and other sales practices (not applicable to federal candidates).	luding applicable classes and rates, discount, promotion
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISC IN THE PLACEMENT OF ADVERTISING.	RIMINATION ON THE BASIS OF RACE OR ETHNICITY
Candidate/Committee/Agency	Station Representative
Signature:	Signature: Jour Pette
Name: Dirk Euidry	Name: Toni Pitre
Date of Request to Purchase Ad Time:	Date of Station Agreement to Sell Time:

### Federal Candidate Certification: The undersigned hereby certifies that the broadcast matter to be aired pursuant to this disclosure either (1) does not refer to an opposing candidate or, if it does, (2) contains a clearly identifiable photograph or similar image of the candidate for a duration of at least four seconds and a simultaneously displayed printed statement identifying the candidate, that the candidate approved the broadcast and that the candidate and/or the candidate's authorized committee paid for the broadcast or if radio programming, contains a personal audio statement by the candidate that identifies the candidate, the office being sought and that the candidate has approved the broadcast. Candidate/Authorized Committee/Agency Signature: Name: Date: TO BE COMPLETED BY STATION ONLY Ad submitted to Station? Date ad received: -No Note: Must have separate PB-19 Forms for each version of the ad (i.e., for every ad with differing copy). N/A Federal candidate certification signed (above): Yes No Disposition. Accepted Accepted IN PART (e.g., ad copy not yet received to determine sponsor ID)\* Rejected - provide reason: \*Upload partially accepted form, then promptly upload updated final form when complete. Date and nature of follow-ups, if any (e.g., insufficient sponsor ID tag): Contract #: Date Received/Requested: Est. #: Run Start and End Dates: Upload order, this form and invoice (or traffic system print-out) or other documents reflecting this transaction to the OPIF or use this space to document schedule of time purchased, when spots actually aired, the rates charged and the classes of time purchased or attach separately. If station will not upload the actual times spots aired until an invoice is generated, the name of a contact person who can provide that information immediately should be placed in the "Terms and Disclosures" folder in the OPIF.